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Function03 for No.10044

NO]_{ d=[y=xX"-6x+3]  3=[y=3(x-51-6] .S=[y=-—x"—4] }
2=[y=-3x"-36x-113]  4=[y=(x-7)1 6=[y=2(x+6)"+7]
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No2=(f(x)=—x"+18x—-81), ,No3=(f(x)=x"+10x+24)
Nod =(f(x)=x"=1), ,No5=(f(x)=—-x+49)
No6=(p=100-0.6x)
No7 N = 70 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 395200
No8 P =7 , L =10 , A = 144 , D =21
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Function03 for No.10127

_ 2
No]:[.l—[y—x +14x+51]

3=[y=2(x=1)+5]

S=[y==2(x-4)+7]

G6=[y=x"+14x+49]
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2=[y=3x"+7] d=[y=—(x-2)+7]
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No2=(f(x)=x"-2x-48), ,No3=(f(x)=—x"+2x+3)
Nod =(f(x)=x"=10x+16), ,No5=(f(x)=-x"+10x-25)
No6 =(p=400-0.5x)
No7 N = 120 ,
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1417500
No8 P =9 , L =10 , A = 49 , D = 27
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Function03 for No.10305

NO]_[ d=[y=-2x"+5] 3=[y=—(x-5)] .5:[y=3(x—2)2+7]}
l2=[y=3x-42x-153] 4=[y=—x"-10x-26] .6=[y=x"+12x+39]
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Nozz(f(x);xz— 16 x + 64_), ,No3 =(f(x)=x"+10x+21)

Nod=(f(x)=—x"—4x+12), ,No5S=(f(x)=x>+8x+15)
No6=(p=300-0.3x)
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No7 N = 120 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 748800
No8 P =9 , L =15 , A =16 , D =117
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Function03 for No.10491

d=[y=—x"+2x-8] 3=[y=-2x"+5] .5=[y=3(x+2)2]}
2=[y=-3x"-30x-71] 4=[y=(x-6)Y+7] .6=[y=(x-4)—4]
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No2=(f(x)=—=x"+6x), ,No3=(f(x)=x"+14x+49)
Nod=(f(x)=x"~2x-8), ,No3=(f(x)=x"+10x+24)

No6 =(p=300-0.1x)

No7 N = 70 ,
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 602700
No8 P =5 , L =71 , A = 100 , D =60
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Function03 for No.10782

— _ _ 2 . e 2 _ B 2
No]:{-l—[y—(x 7)1 3=ly==(x-5)+6] S=[y=3x 42x+146]}

2=[y==x"-7] A4=[y=2xX"+4x+1] 6=[y=-2(x+6)+2]
\ 30-
\

No2 =(f(x)=x>-2x), _ ,No3 = (f(x)=x"+ 16 x + 64)
Nod=(f(x)==x"-2x+35), ,No5=(f(x)=—x"-2x+3)
No6 =(p=600-0.7x)

No7 N = 100 ,
Pl = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 805800
No8 P =1 , L =5 , A = 25 , D =6
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Function03 for No.11040
2
NO]:{ .]—[yz—x +5]
2=[y==x"+12x-36]
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\ 15-

=[y=3(x-1Y+7] 5=
=[y=2(x-7)+4]

[y=-(x-4) -4]

[y==2x"+4x-3]
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No2=(f(x)=x"+10x+21), ,No3=(f(x)=-x"+14x—49)
Nod=(f(x)=x>+4x-32), ,No5=(f(x)==x>+12x-35)
No6 =(p=500-0.1x)
No7 N = 110 ’
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 1000000
No8 P =8 , L =17 , A =121 D = 72
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Function03 for No.11048

d=[y=—(x-7)-5]
2=[y=—x"—12x-35]

No]z{

/

\ /2

25+
/;f ‘\ 20-
/ \ 15-

10

3=[y=-3x"+3]
4=[y=—2x"-12x-18]

/

[y=x"+12x+39]
[y=3(x-1)"-1]

|
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|
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No2 = (f(x)=x" +2 x — 48),
No4 = (f(x)=—x"— 18 x - 81),

No7 N = 110
Pl = 3000
B = 300
No8 P =9
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No6 =(p=300-0.2x)

3300 , P3 = 3600 ,
691200
10 , A = 64 ; D

72

,No3=(f(x)=—x"-2x+8)
, No5 =(f(x)=—x"—6x)
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Function03 for No.11107
d=[y=2x"-4x+2]

No]z{ )
2=[y=-3x"+30x-76]

30-

3=[y=—(x-5)7+7]
A=[y=x"—d4x-1]

S=ly==2x"+7]
6=[y=(x+3)+4]
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No2=(f(x)=—x"+10x-24), ,No3=(f(x)=—x"+18x—81)
Nod =(f(x)==x"+2x+35), ,No5=(f{x)=x>-4)
No6 =(p=600-0.7x)
No7 N = 80 ,
P1 = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 913500
No8 P =2 , L =3 , A = 100 , D =12
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Function03 for No.11419

Ab]::[

d=[y=—x"-8x-17]
2=[y=3x"+18x+33]

3=[y=-3x"-6x-1]

A=[y=—(x-1)]
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20+
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S=[y=(x=-2)+1]
b=[y=—2x"+1]
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, No3 = (f(x)=—x" - 10 x — 25)
,No35 =(f(x)=x"+6x—27)

No6=(p=700-0.4x)

10 8 6
!
/ i
No2 = (f(x)=x"— 10 x + 24),
Nod =(f(x)=—x"—4x+5),
No7 N = 130 ’
P1L = 7000 , P2 = 7500 , P3 =
B = 500 , M = 1579500
No8 P =9 , L = 14 , A =
[Page = 0009]

8000 ,

81 , D 63
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2
S=[y=—x"+2x+4] }
y

Function03 for No.11424
3=[y=(x+7)+3]
6=[y=-3(x+6)-5]

d=[y=2x"+16x+32]
4=[y=—x"-8x-23]

No]:[ )
2=[y=-2(x+1)-7] .
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/ 15-
Fi
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\ FESTEE
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. -7 \\
8 10

| \
\ f _20_

I.fj / \ -25- \
'&\ \ \
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,No3=(f(x)=—x"+4x—4)
,No5 = (f(x)=—x"+12x-32)

No2=(f(x)=x"—4x+3),

No4 = (f(x)=x" =10 x+21),
No6 =(p=200-0.1x)

No7 : N = 100 ,
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 672300
No8 : P = 11 , L =18 , A = 064 , D =110
((IONNNIND 9:0:9:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢
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Function03 for No.11470

d=[y=2x"-8x+6] .3=[y=—(x-7) " —-1] .5=[y:—2x2+20x—45]}
2=[y=x"+1] 4=[y=-3(x=-5Y-1]1 .6=[y=(x+1) " +2]
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No2=(f(x)=x"=10x+21), ,No3=(f(x)=x"—10x+9)

Nod=(f(x)=—x"+2x+8), ,No5=(f(x)=x"—10x+25)
No6 =(p=400-0.7 x)

No7 N = 120 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 775200
No8 P =9 , L =10 , A = 100 , D = 90
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Function03 for No.11472

NO]_[.J:[y=x2+4x+11] 3=[y=2(x-4)"+5] -5=[y=—(x+3)2+1]}
2=[y=x"+14x+49] 4=[y=-3x"-30x-78] .6=[y=—2x"+2]
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No2=(f(x)=x>=10x+25), ,No3=(f(x)=—x"+8x-12)

No4=(f(x)=x"+12x+35), ,No5=(f(x)=x"-9)
No6 =(p=500-0.3x)

No7 N = 110 ’
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 831600
No8 P =7 , L =18 , A = 36 , D = 49
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Function03 for No.11523
I=[y=3x"-18x+23]
2=[y==2(x+3)+7]

No]z{ S=ly=
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20+

15
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4=[y=—(x+2)"-3]

S=[y=-x"+5]
6=[y=-3x"+30x-68]

/

I

(x=1)=5]

|

No3=(f(x)=x"+4x-32)
,No5=(f(x)=x"—4x-32)

No6 =(p=300-0.7x)
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No2=(f(x)=—x"-2x), |,
No4 = (f(x)=x" =16 x + 64),
No7 N = 130 ’
: P1 = 4000 , P2 = 4500 , P3 =
B = 500 , M = 1180000
No8 P =0 , L =17 , A =
1
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Function03 for No.11549

d=[y=—(x+1)"+5] 3=[y==2x"+7] .5:[y:—x2+8x—14]}
2=[y=-3(x-3y-6] 4=[y=x"+10x+20] 6=[y=2(x—1)]
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N02:(f(x):x2—8x+7); ,No3=(f(x)=—x"+4x+12)
Nod =(f(x)=x>-12x+35), ,No5=(f(x)=x"—12x+36)
No6 =(p=300-0.5x)

No7 N = 80 ,
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 975000
No8 : P = 10 , L =19 , A = 25 , D = 80
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Function03 for No.11925

d=[y=(x-6)Y=7] 3=[y=2(x+1)+1] .5=[y=3(x+4)2]}
2=[y=-3x"+3] A4=[y=—x"+2x-7] .6=[y=—x—4x]

== rmeso==r

\ / \

LS

I
]

\

\ \ i \
=
A i \f
\ Y A

/ _

No]:[

/ Z104 \
/ \
A\

/
/ -15- \
¥ !
/ ~207 \\

25 \
/ \
No2=(f(x)=x"+14x+49), ,No3=(fx)=—x"+6x+7)
Nod =(f(x)=x"+8x+15), ,No5=(f(x)=x"—64)
No6=(p=100-0.4x)

No7 N = 130 ,
Pl = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 975800
No8 P =7 , L =17 , A = 36 , D = 63
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Function03 for No.11935

d=[y=3x"-24x+46] 3=[y=-3x"+12x-18] .5=[y=2x2—20x+51]}

2=[y=(x+6)-2] d=[y=—(x+7)+1] 6=[y=—(x-1)]
01 |

25 f
\ |
[

204\

No]:[

15- \
\ /
\ {
10- 1\ f!
\ /
\ /
5 \ /
\ /
\ /
\ /

/ " —%
; \ / /\ N
A / L

15+

SESSEES
A
, -

/ VL Fh

No2=(f(x)=x"—4x-32), ,No3=(f{x)=x"-2x)
No4 =(f(x)=—x"-10x—-16), ,No5=(f(x)=—x"—18x—81)
No6 =(p=200-0.3x)

No7 N = 80 ,
P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 616400
No8 : P = 11 , L =16 , A = 144 , D = 99
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Function03 for No.12183

d=[y=x"+12x+41] 3=[y=-3x"+4] .5=[y=2x2+28x+98]}
2=[y=—(x-3)7+7] 4=[y=3(x-57-1] .6=[y=—(x-3)"-6]

= |

No]:[

\ f 20- \

\\ = \ /
. / P 15- \
\ \\ j // \

N 4 /

/ i \
I -10 i_l
I
/ A5 \

/ -20- \

}.‘f |
, - \
No2=(f(x)=x"+6x—-16), ,No3=(f(x)=-x"+8x—7)
Nod=(f(x)=—x"+6x-9), ,No5=(f(x)=—x"—12x-27)
No6=(p=100-0.6x)

No7 N =70 ,
Pl = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 480000
No8 P =7 , L =10 , A =9 , D =291
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Function03 for No.12246

d=[y=2(x+5Y-1] 3=[y=—x"+10x-25] .5:[y:—2(x+6)2+3]}
2=[y=-3x"+36x-103] 4=[y=—(x-5)+2] .6=[y=x"+14x+43]

\ I; 30-

25

No]:[

15

10+

=10+

=15+

I

No2=(f(x)=—x"~16x-63), ,No3=(f(x)=x"+4x+3)
No4 = (f(x)=—x"+12x-35), ,NoS=(f(x)=x"~14x+49)
No6 =(p=300-0.1x)

No7 N = 110 ’
pl = 3000 , P2 = 3500 , P3 = 4000 ,
B = 500 , M = 800000
No8 P =7 , L =11 , A = 64 , D = 56
X [Page = 0018] XXXXXXXXXXXXXKKXXKXKXXXXXXKXKKKKKKKKKKXXXXKXXXXXXXXXXXXXXXXKKKKX



),0:9:9.0:9:9.0,9:9.9.0:9.:9.9:9.:9.9:9.:9,0:9.:9,0:9.:9.0,9:9.0,9:9.0.0:9.9.9:9.9,0:9.:9,0:9.:9,0:9.:9.0:9:9.0,9:9.0,9:9.0.0:9:0.0:9:9.0:9:0.0:9.0.0.9:0,0,0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXM5/2-6800403-00019XX

Function03 for No.12332

No]z{

d=[y=2x"+2]
2=[y=x"—10x+24]

\

\

3=ly=—(x+3)"]
A=[y=(x-2)+4]

.

25\
20-

15

10+

\

\ /
-

\/

/

.5:[y:—2x2—24x—68]}
6=[y=-3x"+36x—113]

/

J

No2 = (f(x)=—x" - 12 x - 36),
No4 = (f(x) =x" - 81),

10 8 B—\;
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).f
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!
/
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No7 : N = 110 ,
: P1 = 4000 , P2
: B = 400 , M
No8 : P =4 , L
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2
\
\
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\
\
\
\

]

\ /
\

No6 =(p=200-0.6x)

4400

1080000

12

14

14

P3

A

4800

25 , D

8 10

, No3 =(f(x)=—x"+8x)
,No5 =(f(x)=x"-2x-3)

52
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Function03 for No.12682

_ 2
NO]:[ d=[y=x"+4x+11]

o
\ /’

/ 25
\
/

3=[y=(x+6)"]
2=[y=2x"-12x+20] 4=[y=—(x+7)-5]

S=[y=—2x"-28x-101]
6=[y=-3x"+3]

|

\ \\ ;‘( 20+ _/'!
/
\ \ / /
\\ \\ ;' 1 5 7 /
\ \ X
\.\ \ / //
\ / /|
\ b7
\\ /f\\m__f//
\ ;
\ ¢ 5
\_‘I\ < Fd
\\\ >
10 8 6 4 b 0 4 10
_5 -

SEEES

/" / X \ TN

/ W\

1 i
e

No2 =(f(x)=x - 12 x +36),

Nod=(f(x)=x"-6x-17),

No7 N = 130 ,
Pl = 3000 , P2 = 3500 , P3 =
: B = 500 , M = 1430000
No8 : P = 11 , L =21 , A =

X [Page = 0020] XXXXXXXXXXXXXKXKXKXKXKXKXKXXKXKKXKKKKKXKKKKKKXKXXKKXXXXXXXXXXXXXXXKKKKX
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, No3 =(f(x)=—x"+8x)
, No3 = (f(x)=—x"+ 81)
No6=(p=100-0.3x)

0o,

14

D

77



):9:0:0.9.9:9:9.9.9:9:0:0.0.9.9:9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9:0:0:0.0.9.9.9.9.9:0:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,0:0.0.0.0.9.9.9.0.4
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXKXXXXKXM5/2-6800403-00021XX
Function03 for No.13022

d=[y=(x=1)~1]  3=[y=3x"+6x] .5=[y=—2(x+1)2—1]}
.2=[y=—3x2+6x—1] -4=[y=x2—4x+5] -6=[y=—x2+6]

e //

T

20- / Fan.

No]:{

—
e,
—

';ﬁl'w'—.‘
e

BB

-15- \

=20

-,
——

/ = \
No2=(f(x)=x"—4x-21), ,No3=(f(x)=—x"+4x+32)
N04=(f(x):—x2+2x+15), ,N05=(f(X)=—x2—8x—16)

No6=(p=200-0.2x)

No7 N = 100 ,
P1 = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 939600
No8 P =3 , L =4 , A = 49 , D =9
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Function03 for No.13650

[.1=[y=2(x—6)2+4] 3=[y=—x"+14x—-47] .5=[y=(x—7)2—4]}

Nol = ) s )

2=[y=-3x"+6x] A4=[y=-2x"+4x-8] .6=[y=—(x-3)7]
30 \

L1

. -

No2=(f(x)=—x"-12x-36), ,No3=(f(x)=x"—6x)
Nod=(f(x)==x"+4x+21), ,No5=(f(x)=-x"+4)
No6=(p=400-0.4x)

No7 N = 70 ,
Pl = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 728000
No8 P =6 , L =9 , A = 64 , D = 36
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXKXEXKXKKKXKXKXKXXKK XX KXKXXKKXKXKXKKXKX



Function03 for No.13655
d=[y=x"-6]

No]z{ )
2=[y==x"+4x-8]

3=[y==2(x-2)+7]
4=[y=2x"+16x+29]

S5

25

S=[y=
6=[y=3x

\

|
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(x=3)] }
—30x+69]

No2=(f(x)==x"+6x+7),
Nod = (f(x)=x"+4x+4),

No7 N = 110 ,
: P1 = 4000 , P2 = 4200 , P3 =
: B = 200 , M = 676800
No8 : P =3 , L =11 , A =
X [Page = 0023]
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,No3=(f(x)=x"-6x)

4400 ,

D = 30

|\

, No5 = (f(x)=—x"— 10 x — 24)
No6 =(p=300-0.2x)

10
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Function03 for No.13667

d=[y=-x"+14x-51] 3=[y=3(x+3)+4] .5:[y:—3(x—6)2—7]}

No]z{ ) ) )
2=[y=-2x"+4] A=[y==x"+14x-54] . 6=[y=(x+7) +2]

30

\ =4
e

\\ / ,’/ 15-

\ 4 /
N AL
5
\“\nﬁyaf// //f"“\\
S e e e £ i s e
10 8 6 4 2/ -0 \ 2 4 6 8 10

/ 35 N \

/ \\ / \‘
=20 !;
/ / \\
-25- “

/ \
./ I \
/ / ‘
No2=(f(x)=—x"+2x+24), ,No3=(f{x)=x"-6x—16)

Nod =(f(x)=—x"-2x+15), ,NoS=(f(x)=x"-2x+1)
No6=(p=200-0.5x)

No7 N = 110 ’
pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 844800
No8 P =4 , L =5 , A = 81 , D =20
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Function03 for No.13734

NO]_{Iz[yz—(x—l)2+6] 3=[y=2x"+4x+2]  S=[y=—(x+5)+3] }
2=[y=x"-4] 4=[y=3(x=2Y-1] 6=[y=-3x"+36x—102]
\ 30- /
\\\ 3 / !
\\‘.
\\-
10 8 I 4 10
N02=(f(x)=—x2—6x—9), ,N03=(f(x):—x2—4x)
Nod =(f(x)=—x"+49), ,No5=(f(x)=x"+2x-3)
No6 =(p=500-0.3x)
No7 N = 80 ,
P1 = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 725700
No8 P =0 , L =11 , A = 25 , D =18
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Function03 for No.13962

[.1=[y=—(x—6)2—3] 3=[y=-2x>-8x—14] .5:[y:—x2+8x—11]}
Nol = 5 5 5
2=[y=-3(x+5) +4] Ad=[y=x" —-4] O=[y=3x"-6x+4]
== /
——— j
\
\ 15 /
\ /
b4 !

| \
| 25-
\/ /

- ——— \
No2=(f(x)=—x*+4x), ,No3=(f(x)=x"—4x-32)
Nod4=(f(x)=—x"—4x+5), ,No5=(f(x)=—x"+16x-64)
No6 = (p =300 - 0.5 x)

No7 : N = 120 ,
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 1166000
No8 : P =1 , L =7 , A = 169 , D =5
X [Page = 0026]
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Function03 for No.14470

d=[y=x"+10x+19]  3=[y=(x+5)-1] .5=[y=3(x—2)2—2]}
2=[y=—(x-77+2] 4=[y=-2x"+20x-50] .6=[y=-3x"+30x—81]

\ 1

\ 7

No]:[

\ /
\ 7 -

T T \ / T T T /I‘J \I\

10 8 6—~—"4 2 0 2 4,/ N6 8 \| 10

= f f!f \ \

-
A/ AR
57/ EEEEY

—— S by

No2=(f(x)=x"+2x-15), ,No3=(f(x)=—x>+2x+24)
Nod=(f(x)=x"+2x+1), ,No5=(f(x)=—x"—10x-21)
No6 =(p=200-0.7x)

No7 N =70 ,
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 806400
No8 P =5 , L =10 , A =81 , D = 30
X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKKXKXKXKXKKKXKXKXKXXKK XX KXKXXKKKKXKXKKXKX



):9:0:0.9.9:9:9.9.9:9:0:0.0.9.9:9.9.9.9:0:0.0.0.9.9.9.9.9:0:0:0.0.0.9.9.9.9:0:0:0.0.9.9.9.9.9:0:0:0.:0.9.9.9.9.9.9:0:0.0.0.9.9.9.9.9,0:0.0.0.0.9.9.9.0.4
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXXXKXXKXM5/2-6800403-00028XX
Function03 for No.14561

d=[y=-3x"-30x-74] 3=[y=x"-4x+9] S=[y=-2x"-5] }
2=[y=(x+57-3]  4=[y=2(x-1)"] 6=[y=—(x-6)-7]
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f 3\
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/ 3
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!; 1 25- /
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No2=(f(x)=x*—4x-21), ,No3=(f(x)=—x"—4x—4)
Ab4:(ﬂx):ﬁf+12x—32x ,Ab5=(ﬂx)=x2+2x—48)
No6 = (p =400 — 0.4 x)

-...,__‘_‘\

-—-.—‘—'""-’—.
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e

No7 N = 120 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 735000
No8 P =4 , L =5 , A = 49 , D =16
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Function03 for No.14657

No]_[.]:[y:(x—5)2+7] 3=[y=-3x"=30x—-80] S=[y=—x"—4] }
2=[y=—(x+1)] 4=[y=-2x"+24x-78] .6=[y=3x"—24x+54]
30‘\\

\\ ey
25- \ /
20- \\ /t //
15- \\ // 4
\ J
N
\\%/
5_
10 8 6 4 2 0 2 4 6 8 10
= -5
4 \\
/ \ oo
/ / 3
/ \ -10- / \
J/ \\ Fa
I \ A
/ \ 25 ,f}r i
/ \
/ \
/ \ -20- ' \
/ \
\
| \ 257
f \ / \
/ e / \
No2=(f(x)=x>+10x+21), ,No3=(f(x)=—x"+36)
Nod=(f(x)=x"-10x+21), ,No5=(f(x)=x"+4x+4)
No6=(p=400-0.4x)
No7 N = 110 ’
P1 = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 960300
No8 P =5 , L =06 , A =121 , D = 35
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Function03 for No.1l4661
N { d=[y==*-6] 3=[v=—(x-3)—4] .5:[y:—2x2+24x—74]}
ol =
2=[y=3(x+7)+7] 4=[y=x"+2x+1] .6=[y=-3x"+42x—153]
\ / 30 /

\
\ \ {
\
\ |
1 25_

—
—
-
——

L =
|
N
_\‘_\‘

10
\ 74 /

W/

s . A
4 | \
/ 1 :

/ A \

f=—F= \

/ F] |
No2=(f(x)==x"-10x-21), ,No3=(f(x)=—x"+10x-25)
Nod=(f(x)=—x"+12x-27), ,No5=(f(x)=x"—6x)
No6 =(p=600-0.1x)

No7 N = 80 ,
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 770000
No8 P =3 , L =12 , A = 25 , D =18
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Function03 for No.14674

d=[y=x"+4x+4] 3=[y=x"—10x+22] .5=[y=2(x+7)2—1]}
2=[y=—(x+6)=-6] 4=[y=-—2x"-20x-57] .6=[y=3(x-2)+1]

\\ ] \3\0- /;

\\ \ / :\\ /

\\ \\ / / // 1
(A /

AN /

No]:[

T T /I T I T \ T T / T
10 foel g 4 2 d 2| N \/(V 8
5 !
//H -“‘\\
fﬁ \
/ \ -10-
/ \
!f' \\\
/ 5 -15-
/ \
/ \
\
/ \
\ 20
-‘rz \l
.r \
/ \
/ V=T

/ R |
No2=(f(x)=x>+10x+21), ,No3=(f(x)=x"+2x+1)
Nod =(f(x)==x"+2x+35), ,No5=(f(x)==x"+12x-27)
No6=(p=200-0.4x)

No7 N = 100 ,
Pl = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 934500
No8 P =9 , L = 14 , A = 169 , D =27
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Function03 for No.14676

[.]:[y:3(x+2)2—6] 3=[y=x"+8x+10] S=[y=2(x-1)] }
Nol = 5 5 5
2=[y=-2x"+5] A=[y=—x"-14x-45] 6=[y=—x"—-12x-42]
\ \ 30- I /
— | /
\E 2| |
\ [
\ f
\ 20 |
{ |
\ /
\ 151 |
K \\ f
=R

w7/ 3 % Na\ & /0 S R S
/ \ i -
/ \ \\—-—f/ =97

/ \\ -15-
, \

\\\ 20+

, \\

-30- |

No2=(f(x)==x>-10x-21), ,No3=(f(x)=x"—4x-32)

Nod =(f(x)=x"-8x+15), ,No5=(f(x)=x"—18x+81)
No6 =(p=200-0.7x)

No7 N = 110 ’
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1466400
No8 P =9 , L =20 , A =100 , D = 81
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Function03 for No.14694

No]:[

d=[y=xX"+14x+42] 3=[y=2x"+20x+52]
.2=[y=—(x+1)2+3] ‘4:[y:—3(x+7)2—3]

v 30
\A /

\

\
\

\ 25-
\
\\. /
20- -
\
\
15\

.5=[y=x2—8x+16]}
6=[y=3(x=1)"-2]

/

/

| \

/ \

No2 = (f(x)==x"+9),

Nod = (f(x)=x"+2x—24),

R
e

20
25+ \

o

,No3 =(f(x)=—x"+16x— 64)
,No3=(f(x)=x"+4x-12)

No6=(p=700-0.3x)

No7 N 80 ,
Pl 6000 , P2 = 6500 ,
B 500 , M = 858000
No8 P 2 , L =6 ,

P3 = 7000 ,

A =16 , D =10

10
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Function03 for No.14705

{ d=[y=-xX+4x-4] 3=[y=—(x-5Y-3] S=[y=+x"-4x-3] }
Nol = ) 2 2
2=[y=-2x-8x-11] 4=[y=2x-5] .6=[y=-3(x+4)-1]
30- |
\ /
\ 25
\ 20
15-
10+

/ .
/ 154 \

j

No2=(f(x)=—x"+2x+8), ,No3=(f(x)=-x"—14x-45)

Nod =(f(x)=x"+6x-7), ,No5=(f(x)=x"—14x+49)
No6 = (p =700 - 0.6 x)

No7 N = 80 ,
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 837500
No8 : P = 2 , L =7 , A = 81 , D =18
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Function03 for No.14715

No]:[

d=[y=-3x"-7]
2=[y=—(x+5)+3]
\

\

3
4

=[y=2x"+16x+34]
=[y=—x"—12x-43]
30

S=[y=(x-6)"-5]
6=[y=3x"—18x+27]

5_

15

10

|

\ =97
\
\
\\ A_—
\
\
M5+
_ \

\

'26\' -

|

No2 = (f(x)=—x"—8x—16),
Nod =(f(x)=x"+4x-21),

,No3=(f(x)=—x"—4x+32)
,No3 =(f(x)=x"— 16 x + 63)

No6=(p=700-0.6x)

No7 N = 90 ,
Pl = 3000 , P2 = 3300 , P3 =
B = 300 , M = 630000
No8 P =7 , L =9 , A =
[Page = 0035]
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Function03 for No.14716

NO]:[.J_[y_s(x+5)+7] 3=[y=(x+17%-6] .S=[y=-3x—-18x 25]}

—[y=—x"+1] 4=[y=2x"+28x+98] .6=[y=x"—12x+33]
30- I

/

| ::
\
st

10 S 2 4 6 8 10
/ / \
\\—r‘-ﬁ’ \
-10- \\\
-15- \\
=20+ \
/ \
/f 25—
/ _30_
No2=(f(x)=x>+10x+21), ,No3=(f(x)=—x"—4x)
Nod=(f(x)=x>+16x+64), ,No5=(f(x)=—-x"—6x+27)
No6=(p=200-0.5x)
No7 N = 80 ,
p1 = 7000 , P2 = 7500 , P3 = 8000 ,
B = 500 , M = 1020000
No8 P =2 , L =5 , A = 064 , D = 20
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Function03 for No.14752

d=[y=(x+7)Y=1] 3=[y==2x"+12x-12] .5=[y:—(x—6)2—2]}
2=[y=2x"+16x+36] 4=[y=-3x"+12x-14] 6=[y=—x"+3]

\ ;30
\ -

No]z{

\\
/25__ \
// = | \\ \

_:/ \
| \ |

N02=(f(x):x2—2x—15), ,N03=(f(x):—x2—6x)
N04:(f(x):—x2+16x—64), ,Nojz(f(x):xz_gx.,_lz)
No6 =(p=400-0.6x)

No7 N = 120 ,
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 1217700
No8 P =3 , L =11 , A = 49 , D = 30
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Function03 for No.14775
d=[y=-3x"+12x-15] 3=[y==x"-17] S=[y=(x+4)] }
2=[y=2x"=20x+55] 4=[y=-2(x+7)=5] .6=[y=x’—14x+52]

; 30- | |
\\ 25- /\i\ ;;‘r
/ \ /

\ !"
20- / \ /;
\ !

15/ \ /

X 7
\ / \\'- /,‘
5 ) \\“-—‘M’/.'
N LA
N |

No]z{

\

\

EESAE

No2=(f(x)=—x"-6x+7), ,No3=(f(x)=—x"—12x-27)
Nod =(f(x)=—x>—16x—-64), ,No5=(f(x)=x"—4x-32)
No6=(p=100-0.4x)

No7 N = 80 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 780000
No8 : P = 11 , L =19 , A =16 , D = 66
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